Review Questions for Chapter 2

(a) Convert the hexadecimal number A59.FCE to binary.

(b) Convert the decimal number 1400.16 to hexadecimal.

(c) Convert the binary number 101011100.000111 into octal.
(d) Convert the decimal number 166.34 into binary.

Convert the following decimal numbers into 8-bit signed magnitude
representations:

(a) +127 (b)-0  (c)-55
Convert the following signed decimal numbers into 10 bit 1's complement
representations.

(a) 43 (b)-1  (c)-128
Convert the following 2’s complement numbers to their signed decimal
equivalents:

(a) 01111001 (b)11111111 (c)10000 (d) 10000001
Show how the following can be added in 2’s complement notation using 8-bit
arithmetic

(@) 27 +38 (b) 55+ 75
Compute and give the final answer in 2’s C notation: (10100)2s + (00100)sm



